CH AFEH 2= 3

(2022. 3.1 ~ 2023. 2. 28)
(2021. 3.1 ~ 2022. 2. 28)

(b2l - #)
3 = =3 7
2 o 2 o
By =
= . g = o g
1100 ®SAH 45,025,980 9,125,287
1110 "SA= 44,908,480 9,073,497
1111 &g 3,850 0
1112 o= 44,904,630 9,073,497
1120 7|EtmSAHt 117,500 51,790
1125 Mol 117,500 51,790
1200 £ AFRL7| EFRFM

1210 Ax|=tuw

13,390,569,637

13,418,652,358

4,871,805,950

4,871,805,950

3,000,298,710
1,871,507,240

3,000,298,710
1,871,507,240

1220 FAEARLE

1222 £Xt3

8,518,763,687

8,518,763,687

8,518,763,687

8,518,763,687
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= 7 T B
g 9 = %
. g 5
= . & = 2. &
1260 o7& 0 28,082,721
1265 QUolE[ZIT|F 0 28,082,721
1266 ALAEH=XMT|F 0 0
1300 & KpAE 88,212 1,518,436
1310 78 IH XA 88,212 1,518,436
1315 T7[H|E 5,740,360 6,719,360
2315 Zl7|H|ZZT7HAZHE 7| oH (5,652,148) (5,200,924)

At

13,435,683,829

13,429,296,081
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(2) & 3 7|24 (= =)
o} = = S o
= 9 = 9
# . & =
= 2.8 = =
2100 S5 1,140,160 2,446,560
2120 o3 1,140,160 2,446,560
2121 Ldtofl== 0 0
2122 H Mo =3 1,140,160 1,446,560
2129 7|Etof =3 0 1,000,000
2140 7|Efm=FAH 0 0
2141 o|X|Z 2 0 0
2200 & F Y 483,000,000 1,557,000,000
2220 Z|EfH &Y 483,000,000 1,557,000,000
2221 QUEZF 0 0
2222 E7V|o|X|Z& 483,000,000 1,557,000,000
3100 7|22 12,951,543,669 11,869,849,521
3110 &£47|23 3,423,926,929 3,423,926,929
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(2) & 3 7|24 (= =)
o} = = S o
-TII:I- gl- % |::|" OH EIL OH
= 2.8 = =
3111 MEXPI|2F 3,423,926,929 3,423,926,929
3160 UoHEF 0 28,082,721 28,082,721
3165 A°EAMEF 0 28,082,721
3170 7|23 =% 0 0
3171 FXwI7tE5HE710[9 0 0
3130 YAt 9,527,616,740 8,417,839,871
3130 LFSHAILZ=H|Z 0 0
3131 M7[0| & 2AXtH 8,417,839,871 7,961,391,942
3132 F7[ YAt 1,109,776,869 456,447,929
fx & 7123 A 13,435,683,829 13,429,296,081
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[HX] M4T5225MAI(1)]

gl I 2 ofl % 7| 2 SEET Ase s ofx) 3% | sl
8 |(@2=s0g)

= 3,850
Alsr28 O X| & 7| A7 & | 140-003-287739 38,799,306
=1 o - 2HRF Alsted SO X|H 79X & | 140-007-653212 0
Aet2d st Xd | 7|€Awod&E | 140-009-885907 6,105,324
Alsted SO X|H st & 180-008-029146 0
et A 44,908,480
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[EX]| M45 2 5MAl]

2 Xt W = SEREIEN; oM EE oL A| O X| kAl
22.03.19 of = 0| Xtol| CHek 2 M| Met2d =tfX|H 17,624 2,460 240
22.03. 19 o 20| Xtof| ch sk 2l & M| H Aot S x| ™ 133 0 0
22.03. 19 of 20l Xtoi| CHSh 21 & M| A Alsted SX™ 11,394 1,590 150
22.06.18 of 20| Atof CHek 2 T MY tet2d SO Xy 2,538 0 0
22.06. 18 o 20| Atoi| CH et & MM Alot2d =i X|H 98 0 0
22.06. 18 o 20| Xtof| ch sk 2l & M| H Aot S x| ™ 36 0 0
22.09. 17 ol Z 0| Atof| CH et 2l MM Alot2d =i X|H 27,877 3,900 390
22.09.17 of 20| Atof CHek 2T MY Met2d =tix|H 30,801 4,310 430
22.12.17 of| 0| Xtoi| CHet 2 M| H dlet2dd =i x|H 8,714 1,210 120
22.12.17 of 20| Atof CHek 2T MY det2d SO Xy 64,995 9,090 900
23. 02. 24 of| 0| Xtoi| CHet 2 M| H dlet2dd =i x|H 602,124 84,290 8,420

gt A 766,334 106,850 10,650
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[EX] M4527MAI(1)]

< FXret 7| EFRHE HAA >

= i A gl
T = W M7|o| &N 7| 2 RhoH
AR PA gl
Ax| & 4,871,805,950 0 0 4,871,805,950
o & 3,000,298,710 0 0 3,000,298,710
w2510 1,871,507,240 0 0 1,871,507,240
S REREA 8,518,763,687 0 0 8,518,763,687
EXta 8,518,763,687 0 0 8,518,763,687
o7 = 28,082,721 509,414| 28,592,135 0
E[X7a O| Aty 3 2l = 28,082,721 509,414| 28,592,135 0
=) A 13,418,652,358 509,414| 28,592,135 13,390,569,637
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[HX| 45216 A{Al]

< OAFRXIZ|O|EAIE LY 2 AFRAEHAMA >

Tl
T& L & = A M F L H| D
TS AHHA) 45,025,980
1. REAZ 44,908,480
(1) Al =d| 2
(2) AR U 2
(3) elci2 353
(4) 2 0H=F
(5) Atmolgl 2 gdAjolgl
(6) 2EAt=
(7) 71 Et
2. 7|EFRSRHA 117,500
(1) eb7|choiZ
ol Ak A7 |0l 1 AH3 2l e
(3) o]l =&
(4) 7IXl==
(5) MZHIA| 117,500
(6) Br20{S
(7) 7| Et SR
3. 7|Et s EA(B) 1,140,160
1) =2 1,140,160

2) 7|Etodl - =

4) 7t =

(1)
(2)
(3) olx ==
(4)
(5)
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| (6) 7IELR =24

O|AFE X7 | O B At = (A-B) 43,885,820
Atz10| 2
7| Et
A
Aol
7| Et
A
7| Efo[ &
S|t =
Lol 2 ALZSH E Maa
o=
M LA 117,500
At EH|F
DA 2 F
7| El 43,885,820 2023 374 #Hel 2|
AH 44,003,320
Lfod 2 ALZ A= oA 44,003,320
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